
5

∼ 100

3850 − 6900

(lg τ0) τλ = 2/3



Fλ = Sλ (τλ = 2/3) xmin, xmax

xmin ≤ x (τλ = 2/3) < xmax

−1.3 ≤ x < −3.3

χexc ∼ 3
χexc ∼ 1



μ



4300 − 5300

1.93

gf χ

σ
∼ 13%



g
f

χ



g
f

χ



δvatm,i = vi (maskC8) − v (maskC1) i = 1, 2

δvatm,3 = δv2 (maskC8) − δv1 (maskC8)



4300−5300

v1,2 δvatm,2

δvatm,1

δvatm,3

δv1

δv2 δv3





δv1

δv2 δv3

< δvatm,1 > < δvatm,2 > < δvatm,3 >
Δatm,i δvatm,i δvatm,i

Δatm,1 Δatm,2 Δatm,3



μ

δv1 δv2

δv3

Δatm,1 Δatm,2

Δatm,3

±



eff

V −K

V − K



δvatm,2

δvatm,1

Δatm,1 = 6.1 Δatm,2 = 7.4
μ Δatm,1 ∼ 12 Δatm,2 ∼ 8

δvatm,2 ∼ 10 μ

δvatm,1 δvatm,2



δvatm,2 δvatm,3

μ

δvatm,2

δvatm,2 δvatm,3

μ

δvatm,1 δvatm,2

δvatm,3 δvatm,2

δvatm,1



δvatm,2 δvatm,1 ∼ 8

Δ =< δvatm,2 > − < δvatm,1 >
∼

∼



μ

Δ
∼

∼





3 3

τRosseland � 0.1


